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rewrite(↵) =↵ where ↵ is an atomic proposition

rewrite(deadlock) =deadlock

rewrite(EG') =rewrite(¬AFrewrite(¬'))
rewrite(AG') =rewrite(¬EFrewrite(¬'))
rewrite(EX') =EXrewrite(')

rewrite(AX') =AXrewrite(')

rewrite('1 ^ · · · ^ '

n

) =rewrite('1) ^ · · · ^ rewrite('
n

)

rewrite('1 _ · · · _ '

n

) =rewrite('1) _ · · · _ rewrite('
n

)

rewrite(¬') =

8
>>>>>>>><

>>>>>>>>:

'

0 if rewrite(') = ¬'0

AXrewrite(¬'0) if rewrite(') = EX'

0

EXrewrite(¬'0) if rewrite(') = AX'

0

rewrite((¬'1) ^ · · · ^ (¬'
n

)) if ' = '1 _ · · · _ '

n

rewrite((¬'1) _ · · · _ (¬'
n

)) if ' = '1 ^ · · · ^ '

n

¬rewrite(') otherwise

rewrite(EF') =

8
>>>>>>>>>><

>>>>>>>>>>:

¬deadlock if rewrite(') = ¬deadlock
EF'

0 if rewrite(') = EF'

0

rewrite(EF'

0) if rewrite(') = AF'

0

rewrite(EF'2) if rewrite(') = E ('1U'2)

rewrite(EF'2) if rewrite(') = A('1U'2)

rewrite(EF'1 _ · · · _ EF'

n

) if rewrite(') = '1 _ · · · _ '

n

EFrewrite(') otherwise

rewrite(AF') =

8
>>>>>>>><

>>>>>>>>:

¬deadlock if rewrite(') = ¬deadlock
EF'

0 if rewrite(') = EF'

0

AF'

0 if rewrite(') = AF'

0

rewrite(AF'2) if rewrite(') = A('1U'2)

rewrite((EF'2) _ (AF'1)) if rewrite(') = '1 _ EF'2

AFrewrite(') otherwise

rewrite(A('1U'2)) =

8
>>>>>>>>>><

>>>>>>>>>>:

¬deadlock if rewrite('2) = ¬deadlock
rewrite('2) if rewrite('1) = deadlock

rewrite(AF'2) if rewrite('1) = ¬deadlock
EF'3 if rewrite('2) = EF'3

AF'3 if rewrite('2) = AF'3

rewrite((EF'4) _A('1U'3)) if rewrite('2) = '3 _ EF'4

A(rewrite('1)Urewrite('2) otherwise

rewrite(E ('1U'2)) =

8
>>>>>>>><

>>>>>>>>:

¬deadlock if rewrite('2) = ¬deadlock
rewrite('2) if rewrite('1) = deadlock

rewrite(EF'2) if rewrite('1) = ¬deadlock
EF'3 if rewrite('2) = EF'3

rewrite((EF'4) _ E ('1U'3) if rewrite('2) = '3 _ EF'4

E (rewrite('1)Urewrite('2) otherwise


